"MeHN” BFEE

ROUND: 1 TABLE: 1 DATE: 6-3-2016
1/aBA VS 2inYIS1E
HF = A =
sl [T (ST [E2RETAIpA)
1t : LlERE R : BARR 1t : BRR IR KFEREE
B3 : hBhE 78 : RRPHLE A RRE 7a : =EF
AR | R | ER| | g | me | Bx | 20 | g8 mes| DN | =X
1 W ALL E | 2H | +1 | -140 4
2 it N |[INT| +2 | 150 E 2S = | -110 6
3 | w | 3c| = | -210] E |3NT| = | -600| 10
4 we | w |ec| = [-2370] W | 5C | = | -600 13
5 radb E [3NT| = | -400| E |[3NT| -1 50 10
6 /s | E | 5S| +1 | -680| E | 5S | +1 | -680
7 =] S | 3H = 140 | w | 3D | -1 | 100 1
8 Wow S [3NT| +3 | 490 S [3NT| +3 | 490
9 T | W |4Cc | = | 230 N |3SX| -2 | -300 5
10 | WBE | N |45 | = | 620 | N | 4S | = | 620
11 | W | w | 3H]| = |-1490|] N | 3D | -2 | -100 1
12 [=3p]d N | 4H = 620 S | 4H | +1 | 650 1
DATUM%ZiT V. ¢~ 26.00|25.00
FISEN) RIS Lk
SERE/ERR 0.0 B/ 0.0 &t 26.00|25.00
SRIBEE/ZEEE 0.0 EURR/ERBEHIE - 0.0 V.P. 10.36| 9.64




"MeHN” BFEE

ROUND: 1 TABLE: 2 DATE: 6-3-2016
3ZRPA VS ArJMi5BA
F = Al =
ZRkBA NN INISBA ZRkBA
it : ik R BF it : EHpAE R BmkR
g BT 7 TES 7 W 74 - FRERIE
EBA | EBA

BIR | BR | EXR | BY | £ | ddts

i
L

B | &R @S| o | o

1 Wik | N |4sx| = | 590 | E |5CX| -2 | 300 7
2 it | E |SNT| = | -400| E |3NT| = | -400
3 KFg | S |4H | +1 | 450 | S | 4H | +1 | 450
4 WE | N [3NT| -2 | -100 | S |3NT| -1 | -100
5 b | W | 4H | = | 420 W | 4H | -1 50 10
6 ;KFg | S | 3s| +1 | 170 | S | 2S | +1 | 140 1
7 WE | W | 25| +1 | -140 | W [4SX| -1 | 200 8
8 WAt | E |[5CX| -1 | 100 | E | 5C | -2 | 100
9 K | N |ANT| -1 | -50 | N |INT| -1 | -50
10 | WB | E |2NT| +1 | -150 | E |ANT| +1 | -120 1
11 | WE | W | 4S | = | -420| E | 45| = | -420
12 | mit | w | 3S | 1 50 W | 25| -1 50
DATUMZ1T . X+ 8.00 |19.00
LA ANSON &

Fip/ERE 0.0 BrhE/igde 0.0 ait 8.00 |19.00

BEEER/AREEE 0.0 XF/THEE 0.0 V.P. 6.55 [13.45




"MeHN” BFEE

ROUND: 1 TABLE: 3 DATE: 6-3-2016
SEEME=R VS 6B 5ZPA
HF = A =
BEMN=ZR [=EZ1UN [=EZ1UN BEMN=ZR
1t : #xRX K. EX 1t : Z=BR K . F&RE
A : AIIRA 7a . Fke =] 7A : ZFF
AR | R | ER| | g | me | Bx | 20 | g8 mes| DN | =X
1 o v E [3NT| +1 | -430 E |3NT| +1 | -430
2 it N 4S | +1 | 650 N 35S | +3 | 230 9
3 A | N [3BNT| +2 | 460 | N |3NT| +2 | 460
4 WE | E | 4S| -1 | 100 | W |4SX| -3 | 800 12
5 Bdt | S |INT| -4 | -400| E [3NT| = | -400
6 T | E |4SX| -2 | BOO| S | 3H | = 140 8
7 W& | w | 33| -3 | 300 S | 4H | -2 | -200 11
8 WE | E | 2H| +2 | -270| W | 3C | +2 | -150 1
9 T | W |45 | = | -620| W |3NT| = | -600 1
10 | W | E | 45| +1 | 650 E | 45| -1 | 100 13
11 | Wk | s | 3D | -1 | -50 N |INT| = 90 4
12 it E | 4D | -1 50 S | 4H | -2 | -200 6
DATUM%ZiT V. ¢~ 34.00|31.00
BEMNER =N iFEE
PRY/BESTIEE 0.0 TE/EBI 0.0 ait 34.00|31.00
SoR/ZHAE 0.0 | FESH/EEEE 0.0 V.P. 11.05| 8.95




"MeHN” BFEE

ROUND: 1 TABLE: 4 DATE: 6-3-2016
TRRETA Vs SHERIFA
HF = A =
EBERA FEROBA FEROBA EERA
1t X84 R ZER 1t : XU R : XU
B SR 7A : KERE A B 78 : 5K FH
AR | R | ER| | g | me | Bx | 20 | g8 mes| DN | =X
1 WE | N | 4H | -1 | -50 E | 1S | = -80 1
2 it | W | 4S5 | 1 50 N |1INT| -2 | -200 6
3 T | W | 4H| = | -620| W | 4H | = | -620
4 WHE | W ANTX = | -760| E | 2H | +1 | -140 12
5 Bmdt | N |4H | -2 |-1200] S | 3H | = 140 6
6 157G E | 4S | -3 | 300 E |4S | = | 620]| 14
7 =] E |3NT| +1 | -630 | E |[3NT| +2 | -660 1
8 Wik | W |[3NT| -1 50 N | 2H | -2 | -100 4
9 G | w | 3| = | -140| S |BHX| -2 | -300 4
10 =] S | 4H | +2 | 680 N | 4H | +2 | 680
11 WHE | E |3NT| = | -400| E |3NT| = | -400
12 it | S |3NT| +2 | 660 S | 4s | +1 | 650
DATUM%ZiT V. ¢~ 30.00(18.00
EETA FEFORA iFEE
XIE8U/5&1IL 0.0 XUPZ/E R, 0.0 Ait 30.00|18.00
XU#A/AKBH 0.0 FIR/AREE 0.0 V.P. 13.71| 6.29




"MeHN” BFEE

ROUND: 1 TABLE: 5 DATE: 6-3-2016
9f"d‘|‘|i§ VS 105 EECHANCE
HF = A =
I = EHHECHANCE EHHECHANCE T MEE
b | N < X $%k5KiE 1t : RS R XUKE
FA : EfERA 7 2Ry A T LEM A H5HE
AR | R | ER| | g | me | Bx | 20 | g8 mes| DN | =X
1 WL | W | 4H | 1 50 E | 3H| = | -140 5
2 it | W |INT| = -90 W | 3D | +1 | -130 1
3 x| E |3NT| = | -600| E |3NT| +3 | -690 3
4 =] S | 4H | +1 | 650 N | 45 | +1 | 650
5 radb E | 4S | -1 50 E | 4S = | -420 10
6 T | S |3NT| -2 | -200| N |5DX| = | 550 12
7 =] N 2S = 110 S | 4S 1 | -100 5
8 v E |2NT| -1 50 S 1S 2 | -100
9 T | N | BH| +1 | 170 | N | 2H | = 110 2
10 | W& | N | B5H| -2 | 200| N | 5H 1 | -100 3
11 | W& | N | 3D | = 110 | E | 2S 2 | 100
12 &Fit | N |3NT| +2 | 660 | S | 4H 2 | 200 | 13
DATUM%ZiT V. ¢~ 43.00|15.00
T MNEE EHBCHANCE iBEE
RIRe/EEBIE 0.0 | FBRAMELAIE 0.0 &it |43.00/15.00
XKZE/MERE 0.0 | fkKE/ZELRZ 0.0 V.P. 17.08| 2.92




"MeHN” BFEE

ROUND: 1 TABLE: 6 DATE: 6-3-2016
11%246=PA VS 12EEFN
HF = A =
-2y | gl YN ZEFHD ZEFHD -2y | gl YN
| R GV R k= it : s/ NF R IgEEX
/o BEE 7 : XUFEHT B RMNY 7Y : HEE
AR | R | ER| | g | me | Bx | 20 | g8 mes| DN | =X
1 WxE | N [3NT| = 400 S |3NT| = | 400
2 it E 35 | -2 100 | W | 25 | -1 50 2
3 T | S | 38| +1 | 170 E | 2H | +1 | -140 7
4 =] E | 4S = | -620| E | 4S | +1 | -650 1
5 radb E |4D| = |-130]| E | 5D | -1 50 5
6 | | s | 3¢ | = 110 | W | 4S | = | -620 | 12
7 WA | N |3NT| +1 | 630 N |3NT| +1 | 630
8 Wk | w | 3C = | -110| E | 3C = | -110
9 =i E |[3NT| -1 | 100 E | 4H 2 | 200 3
10 WHE | N | 25| +2 | 170 | W |AINT| = -90 6
11 WE | w | s5C| +1 | -420| S |6SX| -2 | -300 3
12 it N 2D = 90 S |2HX]| -3 | -800 13
DATUM%ZiT V. ¢~ 41.00|11.00
-2y | g YN S EHD iFEE
{AIS3R/E83EE 0.0 BI/NE/ARNI 0.0 &it |41.00[11.00
HERX/EEEE 0.0 | BZE=/XFHFH 0.0 V.P 17.40| 2.60




"MeHN” BFEE

ROUND: 1 TABLE: 7 DATE: 6-3-2016
13RI VS 14%t—PA
HF = A =
RYINTER 4b—PRA £4t—BA RYINTER
it : #EE IR . itk | Ao IR . §heTER
/B = 74 . EE B BUR=S 7 (EHFEE
AR | R | ER| | g | me | Bx | 20 | g8 mes| DN | =X
1 XNT5 N 3C -1 -50 W | ANT = -90 1
2 midt | W | 4H | +1 | -450| W | 4H | +1 | -450
3 @ | N | 2s| -1 | 50| s | 25| = | 110 4
4 w5 | E |2NT| -2 | 100 | S | 4H | +1 | 650 11
5 mit S 5C = 600 N 6H | -1 | -100 12
6 = | N |3NT| = | 400 | N | 4H | = | 420 1
7 =] N |ANT| -2 | -i100| S | 2H | -1 | -100
8 wWx | w | 6H | +1 |-1010| W | 6H | = | -980 1
9 F\ﬁ N 4S +1 450 N 2S +3 200 6
10 | W | E |3NT| = | -600| E |3NT| = | -600
11 XNT5 E 3NT | +2 -460 E 3SNT | +1 -430 1
12 | B4t | N |3NT| +2 | 660 | N |3NT| +2 | 660
DATUM&it Y. G+ 19.00(18.00
R TER £edb—BA EE
EE/RE 0.0 EY/EVRE 0.0 &it 19.00|18.00
HLTRR/MAEHEZE 0.0 ik /3ZE: 0.0 V.P. 10.36| 9.64




"MeHN” BFEE

ROUND: 1 TABLE: 8 DATE: 6-3-2016
15=5PA VS 16EFEKT
HF = A =
=5BA BEXKET BEXKST =5FA
it &FDF R XBEEER 1t : #RJkfE IR FebEht
B B/5EE 7 AE5R ERREELE A A==
AR | R | ER| | g | me | Bx | 20 | g8 mes| DN | =X
1 WHE | N |BNT| -2 | -200| N | 4D | = 130 6
2 it S | 3H = 140 | W | 3S = | -140 7
3 G | w | 45| +1 | -650| W | 5C | +1 | -620 1
4 WE | N |4S| = | 620 | N | 4S | = | 620
5 it | S |3NT| = 600 S | 4H | = 620
6 ||l w | 2H| = | -210| S | 3D | +1 | 130 6
7 =] E |4SX| -1 | 200 E |4SX| -1 | 200
8 Wk | w | 3C | 1 50 N 2D | +3 | 150 3
9 G|l S | 2H | -1 -50 E |1INT| +1 | -120
10 WH | N |AINT| +2 | 150 | W INTX = | -180 8
11 WHkZ | S [3NT| = 400 S |3NT| +1 | 430 1
12 mit | w | 2D | -2 100 | W [2DXX -3 | 1000 14
DATUM?fEi‘I‘ V. ¢~ 17.00|32.00
=5BA BEXT iFEE
SFPF/EEE 0.0 | MIKE//IYHE 0.0 &it 17.00|32.00
FEW/EE== 0.0 | IPRE/APEFZR 0.0 V.P 5.54 |14.46




"MeHN” BFEE

ROUND: 1 TABLE: 9 DATE: 6-3-2016
175FZ=1+1BA VS 18sky
HF = A =
REE1+1BA sky sky ReE1+1RA
it : HiREE R FEHK 1t : T3 K. EB8/=x
FA KGR 7 : [RE B3 . ER4E 7a : R
AR | R | ER| | g | me | Bx | 20 | g8 mes| DN | =X
1 WHE | N |4H | = | 420 | N | 4H | +1 | 450 1
2 it E |AINT| +1 | -120| N 2S = 110 6
3 T | W | 3S| -3 | 300| S |3HX]| +1 | 630 8
4 W | E |2H| 2 | 200 | E |AINT| -1 | 100 3
5 gt | S | 45 | +1 | 650 S |45 | = 620
6 T | E |INT| +2 | -150 | E |3NT| = | -600 | 10
7 W&E | W | 4H | -2 | 200 S | 3S = 140 2
8 WAk | W |BNT| = | -400| W | 4SS | 1 50 10
9 T | E |INT| = -90 N | 3| -2 | -100
10 | W | E |[3NT| +1 | 630 | W | 1S | +3 | -170 10
11 WL | S |[3NT| -1 | -50 N |3NT| = | 400 10
12 it | w |3NT| +2 | -460 | W [4ANT| +1 | -460
DATUM%ZiT V. ¢~ 16.00|45.00
REE1+1BA sky iBEE
HIRE/AKERD 0.0 | RTE/ER4fL 0.0 Ait 16.00|45.00
BEE/EEE 0.0 FER/NF5ZE 0.0 V.P. 2.76 |17.24




"MeHN” BFEE

ROUND: 1 TABLE: 10 DATE: 6-3-2016
19 BIEEIR Vs 203
HF = A =
TRER AR Y| R TRER
it : BRI K : 5KNHE 1t : XU x : Xig
A RESE 7 BER B EE 78 : SRS
AR | R | ER| | g | me | Bx | 20 | g8 mes| DN | =X
1 WE | E | 28| +1 | -140| S |3NT| -4 | -200 2
2 it S |3NT| +1 | 630 S |3NT| = 600 1
3 T | S |3NT| = | 400 | N |3NT| -2 | -100 | 11
4 we | W |4s| 2 | 200 w | 5D | = | -600| 13
5 it | S | 2D | +2 | 130 N |INT| = 90 1
6 T | W | 4H | +1 | -650 | W | 4H | +1 | -650
7 =] E | 4S | -1 | 100 E | 4S | -1 | 100
8 WHE | E |3NT| +1 | -430| E |3NT| +1 | -430
9 T | N | 4S | -1 | -50 S |45 | = | 420 10
10 | W | E |4H | +1 | 650 W | 4S | = | -620
11 Wx | s |2D| -1 | -50 ALL 2
12 it S |2NT| -1 | -200| S |[3NT| -3 | -300 5
DATUM%ZiT V. ¢~ 33.00(13.00
) AafEAh% | IHERE iFEE
SEEMVLES ST N0 X/ & 0.0 ait 33.00|13.00
p{:TERE 0.0 | SKRB/BHER 0.0 V.P. 15.58| 4.42




"B BEE
ROUND: 1 TABLE: 11 DATE: 6-3-2016

21{Z A= VS 225 MERT

= A =

{ZF9mz FNEET FNET {ZJotE

it : R : it : R
2 [ris 2 7

BIR | BR | EXR | Y | £R | dlts | BER | €Y | £ER | BEdts ?,::,,Fé ﬁfﬁ

XFo

Fadt

KP4

pres]

Fadt

x|

pEE]

7o

O[O (N[O |~ ]|WI|IN|PF

RPY

=
o

pres]

=
=

XFc

=
N

Fadt

DATUMEtiT Y. 2] 0.00 | 0.00

1279z JMERIT R

/ 0.0 / 0.0 ait 0.00 | 0.00

/ 0.0 / 0.0 V.P. 10.00|10.00




